1.

o T AP A —2x + 5y = 3 9] a7} opd A-2?

@ (-4, - 1)

@ (1, 1)

® (21

)




QAPAH ax+y = -5 9 37} (-2.3) & 1, a © Fk& Fofoiel,

>R
=%



3. 10 ¥ A A x Zi€E 100 9 A2 22}y 70 €] ghe] 1000 9 o, x
Sy of diet A S & HERd 222

@ 10x — 100y = 1000 @ 10x + 100y = 1000
® —10x — 100y = 1000 @ 100x — 10y = 1000

® 100x + 10y = 1000



e me o

9]

x, y 7t A5 o, QALY 5xty =20 €]

4.

sfelet.

:I]_

B
=¥



® (3,2



@D 42

@ 28

3
2 3- o, abe 9] S T

3 2 5 9\ -
(i §<2x_*y+6 :§ 6x—|—3y—|—7)§

2
S5HH? (H, a > 0)

B -928 @ -63 3 63



3x+ 2y = 209] 2] 55 F8to]



)7}

s

) o)

>~

1 2] x+2y+4

o

A

x=b,y=2%d M, b3k

YEE
-

!

ol

—_—

n) 247} 274

y=2(x+1
2

29



& mA1%7} 2 4] QAP Alelet.

© x y 7t BE A 0, R &M (x, y) & 749
gel 9l

© x, y 7t AAs+Y o, sl 3 ot
@ x=-34 1, y=10|c}
@ y o ol =5t y = 3x+ 10 ©|ch.

© 00 © 0,06,
® 0,006 @® 09,0066
® 0,0,0, 0



10. H xmte e} ARo] y nte] & 91t 12 whe] o] the4= T 38 7ot
OlAE x,y ol Tt A FEA =2 oA e 227

® x+y=12,2x+2y =38 @ x+y=12,2x+4y =38
@ x+y=12,4x+2y=38 @ x+y=38,4x+y=12

® x4+y=38,x+y=12



